[ Efficiency vs vertpos |
~ 0.8

0.7

......................................

0.

0.5

efficiency vs ver

................................................

o
IIIIIII—L{.—I—'IIII TTTT
R —
=
.. ......E....—@—:..... e
e
Lo
C A
-

-

s
D

0.4
5 S N JE S S
7 RS N— SRR S—

1 S W . S—

Ratio

||}-|||

0.950 :
1072 107

10 0?
TP vertr (cr%)

—=— _/DQM_IT__original_PUO
—«— DQM_TT_TpL_eta3_IPU

— DOM_TT__plL_eta3_2PU
Efficiend —— DOM_TT _pL eta3 2PU

~N 1.2

efficiency vs vert

il
L
5

Ratio

0-95; 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |

S L S At S S S S

efficiency vs Sim. PV z

0857215 210 -5 0

Sim. PV z (cm)



	Contents
	Page 1


